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There are 100 questions in all. For each question | @@&d 100 Gol03iMRMR ©6MS. B0G0D
four alternative answers are given marked as | Goloadj@®@Imgo (1), (2), (3), (4) agom

(1), (2), (3), (4). From these, find the most
appropriate answer. The number denoting this
answer is there in the answer sheet against the
question number concerned. Darken the circle
with Blue/Black Ball Pen only. Record the
answers thus in the OMR answer sheet only.
Do not write anything in the question booklet
except your Roll Number on the cover page and
rough work in the space provided for the

purpose.

1.  Which of the following words comes last

when arranged in dictionary order ?

(1) Success
(2) Succeed
(38) Successively

(4) Successfully

2. Which word cannot be formed from the
letters of the word EXAMINER ?

(1) EXAMINE

(2) REMAIN

3) MANIA

(4) MINOR
ENG+MAL

@RSVIROQ|SIATI® Moal Q@M OO0
Aflmo e#os3EEIgIeE. @RI LVElOWE®O
RO @OMICWORINIWEMO BOR HEMOO
BHN31a ISl . 60D HEMOODD BhIGlHHINM
maud & @10 O BH6)'S £10 TV @ @10 ® 0@
soloayemlomalan 6. aljemo miel
@OELIE @ ®h0jaf Dadl®Ia] NI0WD Oald
9ale@oUl el H0laflenid.  ©EmEEERD
@n 8900 OMR 9amOLnSAIIMIE ad|®mo
GOEUOA|S}AM ). C2l0BJIEW @RSEEIW
UIHDIOM HAUD Galgl@d MlemBaes COIW
MMUElo, Oald AUBLSIMY AUME] M58
MOBIET MSODIM™  HIClalidbd  afled
DOFIMNI0 Af)PIDDI.

1. mleaensiallea (Hoomlereolond
®O6Y eHOSIOBIBlHOHIM AU fy®])
alBo @QIMVOMo Qlmlo ?

(1) Success
(2) Succeed
(3)  Successively

(4) Successfully

2.  EXAMINER ag)m alcodlen
@OHUOETBD  HaleIBla) o6y
£SO B8O M U@ of®] alBo
lddlenomd auowsmg) ?

(1) EXAMINE

(2) REMAIN
3) MANIA
(4) MINOR

P.T.O.
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3. A man walks 10 kilometres due North.

Then he
12 kilometres. Again he turns right and

turns right and walks

walks 5 kilometres. How far is he from

the starting point ?

(1) 13 kilometres
(2) 15 kilometres
(3) 17 kilometres
(4) 18 kilometres

4, If J=30 and T=60, then L="

(1) 36 (2) 45
(3) 51 (4) 54
5. How many 3’s are there in the following

sequence, immediately preceded by a
3 and immediately followed by a 3 ?
3383633333883338833336838633

1 5 (2) 6

G 7 4) 8

Questions 6 to 8§ :

These questions are based on letter series. In
each of these letter series some letters are
missing. Choose the correct alternative from

the given choices.

6. a_acbbaca_bbaca_bba_achbb

(1) cccc (2) abab
(3) baba (4) acac
7. mn_mnmm_mmnmmnm_nmm
nmm_m
(1) mmmn (2) nnnn
3) mnmn 4) nmnm

ENG+MAL
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MAT M

3. 800t eMer AISeHIg 10 &lerloalgd

MSHNIMY.  ag)(MIg  QURIGED B}
@l@lesmg 12 HleaomlQd msHeimy.
aflensio QUEICEm HE)) @@l evr’

5 #16e00lQd MsSHHIM]Y. @S6nE1w
noel®®my Mlomio @RI §0Eajowd ag)(@®
@RHOLII6ENY ?

(1) 13 wleaoadlnd

(2) 15 #leeoalnd

(3) 17 #leeoalnd

(4) 18 wleeoalnd

4. J=30, T=60, agl® L="
1) 36 (2) 45
3) 51 (4) 54

5. emogy mymMleljo emog) aflmleljo 3
QUM af)(@® 3 -dHRD ®IOY O)H0SIOYHIE]-
HOIM V06| (HO@TaleNS ?
3383633333883338833336838633
1 5 2) 6
®G) 7 4 8

6 2@ 8 AUOO G2I10BL6IRWD :

DD Gol0BIEBW  BOHUO  CUYMIHEO8
@OSIVAIMMOHEIO6EM. @MIEHHINM E0C0D
@oHAOGUyemIlello  allal  @RAUOEIBUWD
aflgieato@ldleniomy. ©OmO a2 fld:dedd
mlomyio REIWIV@ HDOEETNSIHE .

6. a_acbbaca_bbaca_bba_acbb

(1) cccc (2) abab
3 Dbaba (4) acac
7. mn_mnmm_mmnmmnm_nmm
nmm_m
(1) mmmn (2) nnnn
3) mnmn 4) nmnm
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8. XXY_YZXXYZY_X_YZYz_XYyzyz
(1) xxyy 2 zzxx
®) yyxx 4) xzyz

9. In a music band all except 4 are singers,

all except 4 are guitarists and all except 4

are violinists. How many are there in the

band ?
(1) 4 (2) o6
(3) 8 4) 12

Questions 10 to 14 :

Out of 30 students in a class, 4 play cricket and
hockey, 5 play cricket and football and 10 play
hockey and football. 4 play cricket only, 8 play
hockey only and 5 play football only. Each

student plays one or more of the three games.

10. How many students play all the three

games ?
1 1 2 2
3 3 (4) 4

11. How many students play cricket and
hockey but not football ?

ENG+MAL
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MAT M

8. XxXxXy_yzxxyzy_x_yzyz_Xxyzyz
(1) xxyy (2)
B) yyxx (4)

zZzZXX

XzZyz

9. 80 moUlm oMU 4 calHIFI6IH
Qg)RJOIBI0 aldFMHOMOET). 4 GaleEO¥l6)d:
ag)jolo UQod AIO@leniMAlI6N.
4 caleodled af)pjoalolo alwell
QUODee M. ag)ssldd eniocdaslad
@O af)(® Galdlens ?

1) 4 (2) 6

3) 8 4) 12

10 2)®@ 14 QUO® G210B\6IRGD :

80) gomdleal 30 allgypdmdlseald 4 cald
(BlEHQL0 oD @0 BHElHHIMY, 5 Gald
(BHBOQI0 aNISENIORL0 dh&ldnHymy, 10 Gald
BaO0HE @0 aNISEENIORI0 MHElHNIM]. 4 Cald
(BEOHQY DO@QUI0 8 Gald BanIH) MO0
5 Gal® anlSEMIOMD MO(®QUlo dhElSNHIM].
60600 afladmalwio MY MIMI@ B8eEmMoO
@A@Y BHISIOERI0 HElhHElTd agydea]|simy.

10. af)@ aladdledd oMy Hgldhalo

BHElHOHIM] ?
1 1 2) 2
G 3 (4) 4
11. Q@ alleyo® ol b (BlaH Qo
Ca00HSWlo  HEIHNIMI  aledd
aN)SeeNIow dhellaniailg) ?
1 1 2 2
G 3 (4) 4
P.T.O.
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12. How many students do not play cricket ? | 12.
(1) 18 (2) 20
3 22 4) 25
13. How many students play neither hockey | 13.
nor football ?
1 2 (2)
3 5 (4)
14. How many students play exactly two | 14.

M A STER

games ?
1 7 2 8
B 9 4) 10

Questions 15 to 24 :

In each of these questions, the numbers in the

figures follow a certain pattern. There is a

number missing marked by ?. Find out the

missing number from among the four

alternatives.
15. | als
30 ?
23 117 [ 12
1) 2 7
3) 4) 10
16. 10 17
4 5
11 14 19 23 29 34
(1) 25 (2) 26
3 27 4) 28

ENG+MAL

cC OrPrY

M
ag)(® allayo®Lal e b (B HDQY
dhellanyomig) ?
(1) 18 () 20
(@) 22 (4) 25
ag)® alad®male®@®  CadoHE e

aN)SEENIOER0 dhellaannilg) ?
1 2 (2) 4
3) 5 @) 7

)@ alladmdle:id & @mow] oensy
HE|HUWD M@0 eIy ?

1 7 2) 8

3) 9 4) 10

15 @)@ 24 AUO® G21IB\6IRGD :

0D 62l0a)tRald oll(@eTBElaNas o6
80} (Ierys dlalolenemea®. @oalld ?
Q)M @OSWOROQ|SIOWIQ  ORIGT B0}
moaly aflgy calo@igiens. aflgiealo® qvosl)
@SSR )2 1860861 MMMo BH6ENBBIT k.

15.

16.

21315
30 ?
23 |17 |12
(1) 2 7
3) (4) 10
10 17 ?
4 5 6
11 14 19 23 29 34
(1) 25 (2) 26
(3) 27 (4) 28
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1) 12 (2) 18 1 12 2) 18
(3) 24 (4) 30 (3) 24 4) 30

AP AP
DY DY

(1 @) 22 1 2) 22

3) 23 4) 24 3) 23 4) 24
19. 8 16 48 19. 8 16 48
7 ? 42 7 ? 42

1) 11 2 12 1 11 2 12

3) 13 4) 14 3) 13 4) 14

20. /\ 20.

1) 30 2) 31 1) 30 2) 31
3) 32 (4) 33 3) 32 (4) 33
21. 4 16 36 21. 4 16 36
64 100 ? 64 100 ?
1) 121 2) 144 1) 121 2) 144
3) 169 4) 196 (3) 169 (4) 196

ENG+MAL 7 P.T.O.
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22. ‘tllab 22, ‘Ellab

1 22 (2) 23 1) 22 (2) 23

(3) 24 (4) 25 (3) 24 (4) 25

@ @) T ® @)

1) 20 2) 22 1) 20 @) 22

3) 24 4) 26 3) 24 @) 26
24. 28 ? 14 24. 28 ? 14
35 42 49 35 42 49

1) 20 2) 21 1) 20 2 21

3) 22 4) 23 3) 22 @) 23

25. If the first day of a non-leap year falls on | 25. @PUWIQIBHOLOOD B0) QAUdHET]6A]
Tuesday, then the 15 of August of the @EJEIAIM0 6).210Q) 0¥ 216 6M &1 @D
same year falls on : @0G® QdaHo 630LEY 15-00 W agmy

dlauavmoeny ?

(1) Tuesday (1) 62a10Q)oval
(2) Thursday (2) Qlpwoval

(3) Friday (3) easglwoYal
(4) Saturday (4)  MloYal

ENG+MAL 8
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26.

27.

M A STER

How many meaningful four lettered
English words can be formed with the
letters EOSR using each letter only once in

each word ?

A is to the North of B and C is to the South
of B. Cisalso East of D. In which direction
is D with respect to A ?

(1) South-West
(2) South-East
(3) North-West

(4) North-East

Questions 28 to 31 :

Four groups of letters are given in each of these

questions. Out of these, one differs from the

others. Find that group of letters.

28. BF,]N, PT, WZ
(1) BF ) IN
3) PT 4) Wz
29. ABZ, PQO, GHF, LMN
(1) ABZ 2) PQO
(3) GHF 4) LMN
ENG+MAL

MAT

26.

27.

C OPY

EOSR ag)mM @osueemgl@ allany 6oy
QUOBSIRIjo BOHHUOEBUWD @O -
HHOO® BOAMOMIBR MNOLIHLHODIRE af)(@®
snogladl QLOHEIBHEIENBOHE0 ?

B -wios ais#mnoem A, B -@ies
a®H06m C. D -@ies #lvsnoem C.
)@@ A -eo®@ @oslauaommoss] D
ag)flos@oeny ?

(1) 69} alslermocy
(2) OO HIPHE)
(3) USHN) alslemmOT

(4)  QUSBO) HIPBE)

28 )@@ 31 AUOE G21IB\ETRGD :

60600 G2l0B|EIAIj0 BOMHOVETBROS MOal)
B$JS6mBUR @MIgeNE. OAUW@ B0) Higo
DRIBRAUIG (Mo Qly@miorumoem. @
BHeN31aSlo6) .

28.

29.

BF, N, PT, WZ
(1) BF 2 IN
3) PT 4 Wz
ABZ, PQO, GHF, LMN

(1) ABZ 2) PQO
(3) GHF (4) LMN

P.T.O.
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30. YXZ, EFD, LMK, UVT 30. YXZ, EFD, LMK, UVT

1) YXZ (2) EFD 1) YXZ (2) EFD

(3) LMK (4) UVT (3) LMK (4) UVT
31. SUY, EJO, OQU, ACE 31. SUY, EJO, OQU, ACE

(1) suy (2) EJO (1) SuUY (2) EJO

(3) OQU (4) ACE (3) OQU (4) ACE

Questions 32 to 35 :

A solid cube of side 3 centimetres is painted red
on the top and bottom faces. The remaining faces
are painted blue. It is then cut into 27 small
cubes.

32. How many small cubes will have one face
red and one face blue ?
(1) o 2 8
(3) 10 “4) 12

33. How many small cubes will have no face
painted ?
1 1 (2) 2
3 3 4) 4

ENG+MAL

10

32 @)®@ 35 QAUO® G2IIB\IRGD :

B0} 2IMN N2 IMIOHHIWIOS Qoo 3 eV
DQOoeNY. @EI6OM MihEIRIl0 ®IOYWIMES
wemEl@ aljalaly Moo alyudl@id@laniom;.
0Qd UwemBglad allal miloo alyudlldleniom;.
@Y VO IBIOSNIOWQ 27 6 2IGlQ VDI~
BOSHROHEI MIGIHOHIMY.

32. af)@® 62101Q MO IBOHOZHIDDHE) 0]
Qltvo 2lj0laljo GO QUKo Mlal@moen ?
(1) o 2 8
(@) 10 4) 12

33. af)® 6210l® MR IBIOHNSHEITD 630]

QAo Moo emosEHiigle) ?
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34. How many small cubes will have two faces | 34. ag)(® 621G VA2 IMIOBOZHEIE 6N
blue and one face red ? Qltvo (ilaiyo 60} Altvo 2ljQla jmoem ?
1) 8 2) 10 1 8 2) 10
(3) 12 4) 16 @) 12 4) 16
35. How many small cubes will have only one | 35. ag)® 62101@ VD2 IBIOHOSHEIT 630]
face painted blue ? QUwo @o(@o mlal MO0 e OS] -
ol dleenynmny ?
1) 4 (2) 6 (1) 4 (2) ¢
(3) 8 4) 10 3) 8 4) 10

Questions 36 to 37 :

These questions are based on the following

figure.
36. The number of squares in the figure is :
(1) 28 (2) 30
(3) 32 (4) 34
37. The number of triangles in the figure is :
(1) 38 (2) 48
(3) 44 (4) 40
ENG+MAL 11

36 @)®@ 37 AUO® G21IB\EIRGD :

€D G2l0BYETBR ®IOY 6 dhSIEYE]H6)M
2@eO®® @RSITOOMAIHEQIBROIQOEN).

36. al(@adloa MA2IMIOEBRIOS ag)emo
af)® ?
1) 28 2) 30
(3) 32 4) 34
37. ol@ovleal @lesoememans ag)epo
af)® ?
(1) 38 (2) 48
(3) 44 (4) 40
P.T.O.
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Questions 38 to 40 :

There is some relationship between the two terms
(letters) to the left of the sign : : .

relationship exists between the two terms to the

The same

right of the sign. One of the two terms on the

right is missing. Find the missing term.

38. HOUSE : FTVPI : : CHAIR : ?
(1) SBJID (2) SJBID
(3) DJBIS (4) DIBJS
39. INDORE : JOEPSF : : BHOPAL : ?
(1) AGNOZK (2) CPIQMB
(3) ANGOZK (4) CIPQBM
40. COMB : XLNY : : MIRROR : ?
(1) NRIILI (2) NIRRLR
(3) NRQQPQ (4) NJSSPS

Questions 41 to 42 :

Choose the correct alternative from those given,
in which the letter pair on the left bears the same
relationship to the letter pair on the right as in

the question.

41. 10:0U
(1) GM:PV 2) AG:KP
(3) IM:RV (4) FK:QV

ENG+MAL

MAT

12

C OPY

38 @)®@ 40 AUO® G21IBLETBGD :

:: oflamEmleon HS®IOIOHED alB6IB0d
(@0HHO6IBUD) ®ODIEd B0y NIMLOENE. @RE®
MIMWo  QIAIm) QOO  alBeB®
monlepmiens. Qlelmy AUWeEm B80) alBo
®ISlg). REIWI® alBo HONSOTd:.

38. HOUSE : FTVPI : : CHAIR : ?
(1) SBJID (2) SJBID
(3) DJBIS (4) DIBJS

39. INDORE : JOEPSF : : BHOPAL : ?
(1) AGNOZK (2) CPIQMB
3) ANGOZK (4) CIPQBM

40. COMB : XLNY : : MIRROR : ?
(1) NRIILI (2) NIRRLR
3) NRQQPQ (4) NJSSPS

41 @}@@} 42 AUOO G106 6B :

30J0B|OTIEd EDS@IINO@D @OMAUD GEROSIW 0
QAI®) QUUWO®D @OHU0 CRISIio ®oilelas
nNIMWo  aloeldnim @oHUOECRIS|HaIUD-
£a|SIM Vg aldho @MIldlenymMAl@iiad aflomyo
BHENBOYD) >

41. 10:0U
(1) GM:PV (2) AG:KP
3) IM:RV (4) FK:QV
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42. CX:FU 42. CX:FU

(1) DW:GV 2) HS:JQ (1) DW:GV 2) HS:JQ

(3) IR:KQ (4) LO:EW 3) IR:KQ (4) LO:EW
Questions 43 to 45 : 43 2)O@ 45 AUO® G2I10B\6IRGD :
In these questions there exist some relationship | : : 2flam@WOG OS®Y AURETIES lBEOEUWD
between the terms to the left of the sign : : as | @@ B0} (G NIMWMENE. AIIBHEYIM
between the terms to the right. Identify the | qVl2lsem&lEd Mlomio QIAI®) QLUGEmIC @PEM
missing term from the given options. eniawo Ao Al§eald® Ml aldho OM®-

OETTTDIS O bb.

43. Garden : Gardener : : Agriculture : ? 43. G®OZ0 : BMOSHHOOM : & dhjadl : ?

(1) Farm (1)  ayadldiiso

(2) Farmer (2)  dyadllenood

(3) Plant (3) 62l

(4) Farm produce (4)  HOodadled0e]MMo
44. Strong : Weak : : Broad : ? 44. VHTIQWIBR® : VOBB] BHIOOD :

Aalogas : ?

(1) Long 1) asmes®

(2) Tall (2) HVOMER®

(3) Narrow (3) ensieTElR@

(4) Short (4) ©WOo BHIOETHE
45. Mars : Planet : : Pumpkin : ? 45. 6210Q]: (a0 : : AEDED3 : ?

(1) Garden (2) Vegetable (1) emogo (2)  alojsedl

(3) Soup (4) Plant (3) aviaf (4) ealsl
ENG+MAL 13 P.T.O.
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Questions 46 to 50 : 46 @}@@3 50 AUOO® B.2106460BMD :
What is the next number in the series ? Moo6yo eueNlaiieal @RSIE® MVoalER® ?
46. 06,11, 20,37,7? 46. 06,11, 20,37,7?

1) 66 2) 68 1) 66 2) 68

3) 70 4) 73 3) 70 4) 73
47. 128, 64,16, 2,7 47. 128, 64,16, 2,7

M 3 ® 1 M 3 ® 1

8 16 8 16
6 @ o 6 @ o
32 64 32 64

48. 27, 64, 125, 216, ? 48. 27, 64, 125, 216, ?

1) 256 (2) 343 1) 256 (2) 343

3) 512 4) 729 3) 512 4) 729
49. 7,8,12,21,37,? 49. 7,8,12,21,37,?

1) 62 2) 63 1) 62 2) 63

3) 64 4) 65 3) 64 4) 65
50. 1,2,10,37, 101, 7 50. 1,2,10,37, 101, 7

1) 139 2) 175 1) 139 2) 175

(3) 226 (4) 253 (3) 226 (4) 253

ENG+MAL 14
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51.

52.

53.

M A STER

Abhishek’s rank is 23" from the top and
27t from the bottom in his class. How

many students are there in the class ?

49
51

48 (2)
3) 50 4)
In a row of children facing North, Ravi is
twelfth from the left end. Rohit is twelfth
from the right end and fourth to the right
of Ravi. How many children are there in

the row ?

25
26

1)
(3)

27 )
24 (4)

If the letters of the word PRINCE are
rearranged as they appear in the English
alphabet, the position of how many letters
will remain wunaffected by the
rearrangement ?

1 1 2 2

3 3 4) 4

Questions 54 to 57 :

Find the odd one out from the given alternatives.

54. (1) Sweet
(2) Sour
(3) Bitter
(4) Hot
55. (1) Table
(2) Chair
(3) Cupboard
(4) Computer
ENG+MAL
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MAT

51.

52.

53.

C OPY

oM@ @REIGaHMHIOHNY 00®: MIHel @D
mimio 23-00mjo ®oeY  MIMio
27-00®io @YEM. af)®:ITd @D Homvl@d
@6d af)(@ Aflapdmdlaaiens ?

(1) 48 (2) 49

(3) 50 4) 51

803 MO HISIHWD AUSHEHy Glaslm’
@oSImeUMOW] E0@lHeIM]. EQll E0SEEY
@QEmS  MlMio  al(@MeNBoamo6NT.
G0a0I® QIRIGE® @RREM MIMyo
al(meneoamio oallwies aalEr
MORIDA®IMO6EM. @® MW@ ag)(®
BHISlHRIENE ?

1) 27 )
(3) 24 (4)

25
26

PRINCE ag)(™m alB@WI6Al @odhH06s30d
snoyladl” @OHHOMORID (HOEBIED alyms
(BB 2 0@ ) (@ @RHHUOETBRLOS
ROO@BITY MOQMENBOHDL) ?

1 1 2) 2
4) 4

54 @}@@ 57 AUOE C2lIBIEBM :
HISOTIT 9RO SIOD@® (V)21 63 E] @
MIOMio  B6)6NBE1S) k.

54.

55.

(1) owiemes®)
) audlayga®
@) »>Qiss®
(4) 2usies®
(1) eow

(2)  HCIVO

(3)  aleenioday
(4)  moallsd

P.T.O.
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56. (1) Rhombus
(2) Rectangle
(3) Square
(4) Trapezium

57. (1) Tree
(2) Leaf
(3) Flower
(4)  Fruit

Questions 58 to 60 :

There is some relationship between the two terms
in the question. Find the correct alternative

where the same relationship exists between the

terms.

58. OFTEN : FOTNE

(1) FIRST : IFRST
(2) BREAD : BREDA
(3) PLANT : LPBTN
(4) BRAND : RBADN

59. DART : ARDT
(1) PARK : ARKP

(2) DENT : ENTD
(3) BARK : ARBK
(4) DIRT : RIDT

60. MORE : ROME
(1) LION : OILN

(2) BEAR : REAB

(3) LIAR : AIRL

(4) RANK : NAKR
ENG+MAL

C OPY
MAT

56. (1) MVOEIRIVIMINDEIBHo
(2) ~almimo
(3) mDal®no
(4) eloenddo

57. (1) oo
(2) e
(3) anal
(4) ad¥o

16

58 @}@@d 60 QAUO® G106 6B :

G l0BJEmIeAl 03] alB6mUW ®omIG 60}
NIMLMENE. @RE®m eniMbo  aldellenimm

myoldo  ®MIE]H6 M QL @1 @)
ODOE)EONSIHE) ) b>.

58. OFTEN : FOTNE
(1)  FIRST : IFRST

(2) BREAD : BREDA

(3) PLANT : LPBTN

(4) BRAND : RBADN

59. DART : ARDT
(1) PARK : ARKP

(2) DENT : ENTD
(3) BARK : ARBK
(4) DIRT : RIDT

60. MORE : ROME

(1) LION : OILN
(2) BEAR : REAB
(3) LIAR : AIRL
(4) RANK : NAKR



M A STER

Class — X

Questions 61 to 65 :

In each of these questions, the four problem
figures in each row make a series. Find out the
one which would come next in the series from

among the answer figures given.

z
<

61. Problem Figures :

2

Answer Figures :

DD

1) (2) 3)

\J
&

62. Problem Figures :

OCAllD @ |AL||OA
| A O |

Answer Figures :

AN AL
O O A A

1) (2) 3) (4)

63. Problem Figures :

IR

Answer Figures :

AN

ENG+MAL

C OPY

MAT M

61 )@@ 65 AUOO G2IIB|EBMD :

630600 C.0103)lelo 4 (1@ 2fl@emaIes 60}
UGl 80) (aemyd Guyemlaiaoem’. &
syemll@ &®ogsiEmOE] aloim afl(@o
oMo 2ll(@6emB&Eldd Mo HeEMBETT .

ZIN
=

1) (2) ®) (4)

61. €.219@) oil(@eBAd :

62. €.2193) oil(@eBAd :

OAl|lLl @ ALl OA
| A O |

oM ail@ewBwd :

AN AL
O O A A

(1) ) ®) (4)

63. 62193) all@emdd :

ENIIAR

oM ail@ewBwd :

N




Class - X MAT
64. Problem Figures : 64.
(d Nid | (VN4 NN

4
Answer Figures :
FINLARI7 N 47 IN 4R [N L4
Aid | |V | N4 | NP
1 (2 (3) (4)

65. Problem Figures : 65.
Answer Figures :

1) (2 (3) (4)

66. In a certain code DEAL is written $35@ | 66.
and SOLE is written #7@3. How is SOLD
written in the code ?

(1) #@37 (2) #5@3
(3) #@7% 4) #7@$

67. A is older than B. C is younger than B | 67.
and D. D is not as old as A. Who among
A, B, C, D is the oldest ?

1 A (2) B
G C 4) D
ENG+MAL 18

M A STER

C OPY
M

62196} 2il(®evBwd :

4 N4 VN4 WPIN

4

9@m® ofl(@eBwd :

ANV | (4N ([ ANIP]| |[4NP]
Al h |4 N4 AV
(1) (2) ) 4)
62196} 2il(®evBRwd :

x

K
XK

80 (ade®myds  eHoall@®d  DEAL
af)Pimyma  $35@ agomio SOLE
Qf)PIMmIM® #7@3 og)(MIMOEM. EDEC®
@00Sl@d SOLD ag)smBeme@eimio ?
(1) #@37 (2) #$@3

(3) #@7$ (4) #7@$

®)

A -@' B -GQ&HHRD (alo@nens. B -c®
#5080 D -CRHHI0 (100 &6
C-g, D-@l A-©0s@@® loalg.
A, B, C, D agmMlU@I@ @ods6H06m
QR0 BHISIO@ (0o ?

1) A 2) B

G C 4 D
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68.

69.

70.

71.

M A STER

A, B, C, D are sitting around a circle and
facing the centre. D is to the immediate
left of C. A is between B and C. What is
the position of B ?

to the immediate right of C
to the immediate left of A
between A and C

to the immediate left of D

If A$B means ‘A is greater than B" and A#B
means ‘A is less than B’, what does A$B#C

mean ?

1)
(2)

A is greater than B and C
Cis less than A and B

(3)

A and C are greater than B

(4) A and C are less than B

If the order of the letters in the English
alphabet is reversed, which letter will be
fifth to the right of the tenth letter from
the right ?
(1) E
B G

(2) F

4) H

If all the letters of the word QUESTION
are rearranged in alphabetical order and
substituted by the letter immediately
following it in the English alphabet, what
will be the new arrangement of letters ?

FJOPRUVT
FJOPRUTV

1)
(3)

(2)
4)

FJOPRTUV
FJOPRTVU

ENG+MAL
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MAT

68.

69.

70.

71.

C OPY

A, B, C, D agmilaid 60} alyem@sim,
21)Qio AUYE® GH(MBOTIMEIDIRIm0Q]
nalaniMy. C -@IOS 6®mIT OS®}
lvoem D. B -@io C -@io sosafl@d A
af)®I@d B -@es munomo ag)ailes ?
(1) C-es e6mog QLI®] QWG

(2) A -ies emog DS® QO®YD)
(3) A -@io C -@io eosailad
(4) D -Wies emog E0S® QUG

A$B ag)(mO®d ‘B -GQH6)UD QR®IEN A’
ag)mio A#B ag)mo@d ‘B -CHHOMRD
©210ymoemy A" agymyo mugallafleayomy-
eUssl@d A$B#C -@ies @odmoenns ?

(1) B, C agmmiaUe@#nHdud ale@moem A
(2) A, B ogmMIQIGQHHIWD 62103~

moemy C

(3) A -@jo C -@3o B -6QHHHOWD
QB moe

(4) A -@o C -©jo B -cOHHOWD
6210)®06N)

noladl  @OHEHOMOLIV]OA (Do
@ B2 LB O@ ALI® AUCE® (Mo
Al @DODO®® @OHHOOWIONY QLI
QUWOHOD BOERIONODT BRMHOCA®) ?
1) E (2) F

G G 4) H

QUESTION ag)m QUOSSIIOR! @odhH06T3(d
@OHHUODOLID(BHABTNE af) LB EUoaHto
60600 BOHUODTIMNI0 ald0o sDoyladd
@OHUODOLIE  @O@IMY OO
afllmoseal AIeM @RHAOEDP BT
aB@ (Bmo ag)MmOdlanio ?

(1) FJOPRUVT (2) FJOPRTUV
(3) FJOPRUTV (4) FJOPRTVU

P.T.O.
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Questions 72 to 76 :

In these questions each word is represented by

numerals. Using the same code find the word

denoting a group of numerals or write a given

word using the numerals, as the case may be.

72. If 6713458 denotes PROBLEM and 827345
denotes MARBLE, how is PROBABLE
written ?

(1) 67133245 (2) 67123345
(3) 67132345 (4) 67132354

73. If FEVER is written 21314 and LOWER is
written 76514, how is FLOWER written
in the code ?

(1) 367514 (2) 376514
(3) 267514 (4) 276514

74. If 3554123 denotes ELLIPSE, what does
214552 denote ?

(1) PEELS (2) SPILLS
(3) SLIPS (4) LISPS

75. If 2413564 denotes STARLET, then
LATER will be coded as :

(1) 51436 (2) 41563
(3) 54163 (4) 51463
ENG+MAL
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72 @)@ 76 QUO® G21IB\6IRWD :

DD G2l0B)EMEIM QAUOBOIHUWD Vo6 dha)-
ale@oddlo avjallaflofldlaniomy. @oem
e0Uloty AlEl ©alcWoUil o] MVo6yd:BD6)
BOMIMVIHAOQ QUOHE), @OOL|S:IM OB Y
@OMNITVYORO® Vo6 )M dHEIENSETDb.

72.

73.

74.

75.

6713458 qvjallaflenima PROBLEM
ag)myo 827345  avyallaflenimme’
MARBLE  agmyo @10 6)6M 81 @3
PROBABLE ag)6m86MeQ9y®moo ?

(1) )
(3) 4)

67133245 67123345

67132345 67132354

FEVER ag)Mm® 21314 agymio LOWER
af)(M®) 76514 af)(Mio af)PImO6Mes1@d
FLOWER og)m® @oem Gsoaulad
Qg)EMBEOMEOQY B0 ?

(1)
(3)

367514 376514

()

267514 (4) 276514

3554123 aujaflaflenimae’ ELLIPSE

agyMoeeMmesl@ 214552  og)mlem
mviallaflenio ?

(1) PEELS (2) SPILLS

(3) SLIPS (4) LISPS

2413564 ayaflafleeiome’ STARLET
agymoeemesl@d  LATER  agesBeom
ag)$ymoo ?

(1) 51436 (2) 41563

(3) 54163 (4) 51463
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76. 1If 324156 denotes FOREST, then STORE | 76. 324156 (mg_o_ﬂg:ﬂoe@g(mm” FOREST
will be coded as : agmMmoeemesl@  STORE  ag)evsem
ag)$ymoo ?
(1) 56241 (2) 65241 (1) 56241 (2) 65241
(3) 56214 (4) 56412 (3) 56214 (4) 56412
Questions 77 to 80 : 77 @)®@ 80 QUO® G21IBL6IRGD :
In these questions one of the figures does not | 6060 G.ol0a|OTAllo B0 2fl@o M@0 Oy,
follow the pattern in the other three figures. | @My 2fl@smsgloal @mo alorlleniNilg). (@mo
Choose the odd figure in each question. ol ofl(@o He6NBEMId:.
77. O 0o o Ol |77 |O O 0o o O
Al IO A Al O A
A A ©) 0 A A ©)
(1) (2) ) 4) (1) ) ®) (4)
78. V2 X 78. Ev2 X
X X X X Yoy X
>x< >x< >x< >x<
1) (2) ) (4) 1) (2) 3) (4)
79. % % 79. % i
1) (2) ) (4) 1) (2) 3) (4)
80. \ L U J 80. 4 L U J
LX 7| [VXU| [1XXL| [VX'U LY 7] [vXU| [T XL||VvXU
U J \ L U J \ L
1) (2) ) (4) 1) (2) 3) (4)
ENG+MAL 21 P.T.O.
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Questions 81 to 83 : 81 @}@@d 83 AUO® G106 6B :
These questions are based on the three positions | 60} MO IBIOHHSWIOS UGBS 1 OI®@D
of a die shown in the figure. The faces are | 6 UOOWIR] @PHHEBRD EOSWOIROQIS)-
numbered 1 to 6. OB @ HOIM]. TVD2IBIOBNZWIOHS MIMN]
mOomemBw 2 l(@ETIGED 6d0S)3@18Ble630M].
@EIOM BOSIMNOMDIHEIQIEM E.2103)6TBUD.
1 1 3 1 1 3
213 4 |d) |4} 2 (39 14| |4}

81. Which number is opposite 1 ? 81. 1 - af)@lleonwies moalew) ?

1 3 1 3

(2) 4 (2) 4

@ 5 @) 5

4) 6 4) 6
82. Which number is opposite 4 ? 82. 4 -0V af)flonwiss Moa )@ ?

1 1 1 1

2 2 (2 2

@) 3 G) 3

4) 6 4) 6
83. Which number is opposite 5 ? 83. 5 -0 af)@lleonwies Mo l\ewe) ?

1 3 1 3

2 2 (2 2

G) 4 () 4

4) 6 4) 6

ENG+MAL 22
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Questions 84 to 87 :

Each of the items 84 to 87 consists of a square of
The

designs in each row or column follow the same

9 cells in three rows and three columns.

rule. Choose the correct answer from among
the given alternatives to suit the cell indicated
by the question mark.

84.

O
A\

~ O

(1)

85.

Q

?

2

3) (4)

A
o | A
ZX%
o= o

ENG+MAL

MAT

23

C OPY

84 2)®@ 87 AUOO G2IIBEIBMD :

60600 G2JosyETllaljo MM QUGlH:glo MM}
NoHalno] 6Ha0emo 9 Haslhalas 60}
M2 I®I0o @M@l HHIM]. B0G00
acldleeai@io/Mlowleai@io (@Bt ao)
(IG@md> (Flmo @RMITIE]2J066EMMMN] dh0o6moo.
62103} 2flamo &oemlofldleninm & el fl@d
e afl@o ®oeY 6HISiEmSias moel

oMo  Miolldhdhal®  mlmio  Ome-
EYETOTDSIBE) .
84.

T A

o A A
ZX% ?

g % g8 X
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86.

~ O

87.
O
O
>C<
?
>< © \
(1) (2 () (4)
88. If the digits of the number 5679482 are
arranged in ascending order, how many
digits will remain in the same position ?
1 1 (2 2
3 3 4) 4
ENG+MAL
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MAT

86.

87.

88.

C OPY

5679482 o) Loej6Al @0odHe) 6u80D
@YEOIa06M (BHAOTIOLILIBIQOT ag)(®
@OHOETBUD  @OB® MUAOMOD] ®EM
afleyo ?
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89. If in the word SCRAMBLE, all the | 89.
consonants are replaced by the preceding
letter and all the vowels are replaced by
the succeeding letter, which letter will be

the third from the left ?
1) s 2 Q
3 B 4) L
90. How many such pairs of letters are there | 90.
in the word NIGHT; each of which has as
many letters between them as in the
English alphabet ?
1) 4 2 3
G 2 4) 1
91. If Friday is the first day of a leap year, | 91.
what day would be the last day of the same
year ?
(1) Friday
(2) Saturday
(3) Thursday
(4) Sunday
92. If blue means green; 92,
green means white;
white means yellow;
yellow means black and
black means red,
then what is the colour of milk ?
(1) White (2)  Yellow
(3) Black (4) Green
ENG+MAL 25

M A STER

C OPY

SCRAMBLE ag)mm alossileal ag)glo
QjeRMEmBRDINI0  aldhb®o  O®MOZY
D)Mal)es @O MU L0 Qg)£lo
MEETBUWBHHI0 ald0o O®IS) alltmosel
QUM BOHHUOCUI0 af)PITI@OT NSO,
oo MIMOD® af@HHUOM06N ?

1) s @ Q

3 B 4 L

Doyl @OHHOMORIQNRI06MEIE B0]
GROW] BRHHUOEBRHHISWIB  af) (@
@0 A Q6T B 6B @0 (@ ®e0m
@HH6t80d NIGHT ag)om aIoHe]@d
QUEIM ag)(® 6220l @od:roee30d NIGHT
ag)M ossllaens’ ?
(1) 4

3 2

60} @UWladar®slen @EIe®® Glalnvo

OSSOy al @D 6)6M 851 @3 @D
Udvemlea  @oalmom  Elalto
o) dleego ?

(1) eeglwoYal

(2) Mol

(3) QlpYowial

(4) emOWOOYal

el agomn@ aloj@io
alo] af)iM@® OAISRWI0
OISR ag)M®) METTHWI0
DET® ag)IM® B0l lo
0] ag)M® 2lj0lalio GOWI®
aloellom adloo agyoy ?
(1) eaiss (2)
(3) 0] (4)

W)
alo]
P.T.O.
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93.

M A STER

If “bag’ is called “box’,
‘box’ is called “pen” and

‘pent’ is called “umbrella’,
then what will a child write with ?

(1) Bag (2) Box
(3) Pen (4) Umbrella
94. If doctor =18; engineer =24, principal =27,
then teacher=7?
(1 17 (2) 20
3) 21 4) 22
95. If ‘CAT’ is represented by ‘FDW’, then
‘RAIN’ is represented by :
(1) UDLQ (2) UDMQ
(3) TDLQ (4) TDQL
96. If 16 is related to 125, then the number
related to 49 is :
(1) o4 (2) 343
(3) 1024 (4) 512
97. If 343=100 and 121 =16, then 250 is :
(1) 25 (2) 49
(3) 125 (4) o4
ENG+MAL
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MAT

93.

94.

95.

96.

97.

C OPY

enIoUilom ealglomyo,
OalglOW GalMemMyo,

CalMO® HiSOWMIo Q&8s Wo-
OMEI@ B0 HIS af)PI®IM® R @
816Ul o joefldleenio ?

(1) )
(3) (4)

6NnIoUY ealgl

Galm &h)S

doctor =18; engineer =24, principal= 27,
®OWO@ teacher=7?

(1)
(3)

17 20

)

21 4) 22

‘CAT -om ‘FDW’ oa06n8) v 2 fla fleero-
eo®ml@d ‘RAIN -om mjaflaflenond

£aICQIUISHNIM) :
(1) UDLQ (2) UDMQ
(3) TDLQ (4) TDQL

16 -omM 125 -eMOS’ MIMWOQ|SIEHIOM)
OQBIT 49 -6M MIMLOQ|SIEMIM
Moo6

(1) 64 (2) 343
(3) 1024 4) 512
343=100; 121 =16, 250 = ?

1) 25 2) 49
3) 125 (4) 64



M A S T E

R C O UPY

Class - X MAT M

98. If ONE is represented by 781234 and
TWO is represented by 134657, then
THREE is represented by :

(1) 256814 2) 256823
(3) 256923 (4) 256914

Questions 99 to 100 :

Number problems are given in the following
questions. Read the problem and answer the

questions.

99. How many numbers from 11 to 50 are

there which are exactly divisible by 7 but

not by 3 ?
1 2 2 4
3 5 (4) 6

100. The sum of odd numbers between 20 and

30 is:
(1) 125 (2) 120
(3) 140 (4) 145
-00o0-
ENG+MAL

98. ONE-em 781234 agymio TWO -em
134657 ag)rmyo muyallaflenymiealessl@d
THREE -6®@ qujoflaflenime :

(1) 256814 (2) 256823
(3) 256923 (4) 256914

99 2)®@ 100 QIO G2IIBLETBWD :

®06¢ ®MICIHHIM G.ol0BJIBUW Mo6l-
HRIN0W] MNITWHQZAUIWOEN. E2l0B 6B
QU@ 2] LBlIBMOO0 BHEENSEYD k.

99. 7 606ME @m0l aflegdlenoalmmyo
ayMmo@ 3 edoene  allelanom
A lROODH@®MOW af)(@® Mot )jdh(d eene 11
-tno 50 -myallsefl@d ?

1 2 Q) 4
®) 5 4 6

100. 20 -mjo 30 -mjo msailengs &gy
MVOEUNETBERIOS @Yk

1) 125 @) 120
(3) 140 (4) 145

-00o0-

27 P.T.O.
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